AUTOMATIC

FAA4AC

Simply automatic.

DOOR
SPECIALISTS

Puertas & Portones Automaticos, S.A. de C.V.

/’/l/aeﬁm /aa.s’fb'zr es lo Solucin/...,
» 400 SBS.

Pos. |Code Description aty Pos. |Code Description Qty
EXPL |400SBS2 0106 | 400 SBS 2 1 022 |701027 TCEI 4X 20 5931 8G Z 1
EXPL. |400S853_01-06 {400 SBS 3 1 023 | 7094065 COPPER WASHER 7X4X1 1
e AT Os T ERNLIO DD PRATOR V00 . 029 |3204435 PUMP LT. 0,75 C/INTEGRATED DISTAN. i
001 702202 NUT EX. 85589552 1
e e e ; 030 |706152 CYLINDER PIN 4x28 M6 ACC. DIN 6325 2
o |T28a0c AR ERACIET soe? : 031 7090010015 SEAL OR 4,48X1,78 (2018) 3
S T oy z 032 |7039025 FRONT WASHER MOTOR 1
005 |7228015 DIE-CAST REAR FORK 400/402 1 033 [702201 NUT EX.12 5589 55 Z 1
006 | 702302 NUT AUT 8747455 2 ] 034 |7073025 M12 JOINT MALE 5
008 | 70991015 GASKET FOR TANK 84,7 X 84,7 mm 2 035 | 7220355 FRONT BRAKET MOTOR 400/87 1
010 701803 SCREW TC TRILOBITE M4X10 WITH WASHERGALVANIZED |1 036 |703401 WASHER CORRUGATED 4,3X9 S.0,8 2
011 7119475 BUFFER VIBRATION FOR 400/402 2 037 7119405 CAP FOR HOLES COVER CARTER 2
Lt D RNl D T ST ORI 4 038 |7019195 SCREW CARTER 400/87 ST 2
013 703101 WASHER GROWER 41751 Z 4 039 |4170015 CARTER 400/87 7
g:; m mg‘:ﬁpﬁsi(;ﬁ PHASE WITH THERMAL l: ol 7272108 GARIER40NSEST !
oo Tr1ros SERATON FOR 30002 3 041 | 3900985 400 SKINPACK '05 RELEASE 1
042 490329 SEAL KIT 422 TYPE 2005 1
017 7161825 TANK MOTOR 400 RELEASE SYSTEM '05 1
S s > 043 |714017 HYDRAULIC OIL FAAC HP OIL LT. 1 2
019 7182175 LONG PIN 400-402 1 044 | 7601351 CAPACITOR PP 8MF-400V WIRES UNIP.250MM 1
020_|701828 SCREW TC TORX M5X20 INOX WITH GROWER 4 do_JaAI00A0 AU E I Y 1
ey e a - 046 |113229 SPARE PACKAGING OPERATOR 400 (24 PCS.) ]
| 400 SBS | HYDRAULIC OPERATOR FOR SWING GATES |

MEMBER

BIDA &

International Door Association E. [

V06.18

(W (2290) 288-1552 —1 portonesautomaticos@adsver.com.mx
portonesautomaticos@prodigy.net.mx

RESIDENCIAL COMERCIAL

(229) 927-5107, 167-8080, 167-8007, 151-7529

www.adsver.com.mx



FAAC

Simply automatic.

A n AUTOMATIC
8 | B. Y DOOR
SPECIALISTS

Puertas & Portones Automaticos, S.A. de C.V.

/-/l/c(aftﬁa /aa.ffb?r es la Solhcinl...
» 400 SBS EXPL 1.

EXPL.

Pos. |Code Description Q.ty
EXPL. | FLANGIA_400_SB |400 SB DISTRIBUTION FLANGE

001 |4994665 400/06 SB FLANGE 1
002 |7230295 SW.G.0.400/87 ST. PISTON ROD 4
003 [703204 ROS.EL.DENT.INT. 5 8842 4
004 | 7366025 CYLINDER PISTON 400 STD 1
005 |7091015 DE 175 GASKET 2
006 |4350105 400 RIVETED PISTON 1
007 |4994625 400 '03 FRONT FLANGE 1
008 |701829 SCREW TC TORX M5X20 INOX WITH GROWER 4
009 |63000315 EU 2028/SP-Z20 SEAL 1
010 [63000148 O-RING 2,62X39,34 NB70 X 5 PCS. 2
011 7090815 - 2
012 | 7094505 GUIDE RING 1
013 |7361335 RETRACT TUBE ALU 400 1

400SBS2_01-06 400 SBS 2

MEMBER

a8 E BIDAY
(9 (229) 288-1552 (7] portonesautomaticos@adsver.com.mx J lg = K4 o R

portonesautomaticos@prodigy.net.mx AEsoencaL  cowemcm.  sousmue  International Door Association [m] %

V06.18

(229) 927-5107, 167-8080, 167-8007, 151-7529 ' www.adsver.com.mx



FAAC

Simply automatic.

A n AUTOMATIC
8 | B. Y DOOR
SPECIALISTS

Puertas & Portones Automaticos, S.A. de C.V.

/'/Va&fff‘a /aa.ffb?r es la Solhcinl...
» 400 SBS EXPL 1.1.

Pos. |Code Description Q.ty
001 63000577 CUP SPRING 14X7,2X0,35 DIN2093 1
002 7090010015 SEAL OR 4,48X1,78 (2018) 3
003 |4404095 2006 SUCTION VALVE 1
005 4180195 400/89 OUTLET INTERNAL CAP 1
006 |[7090280015 GASKET OR 5.28X1.78 (2021) 1
007 4180415 KIT BY PASS CAP DELIVERY '05 400/422 2
008 7049135 VALOX VALVE RETAINING RING NUT 1
009 63000148 O-RING 2,62X39,34 NB70 X 5 PCS. 1
010 |4404065 SUCTION VALVE WITH SPRING 1
011 7090050015 GASKET OR 10.82X1.78 (2043) 3
012 | 7090795 OR 11,2X1,8 NBR 70SHR A SEAL 1
013 4180285 CHANGE OVER PISTON WITH OR 1
015 4180205 STOP VALVE PLUG 2
FLANGIA 400_SB | 400 SB DISTRIBUTION FLANGE ]

V06.18

MEMBER

@8 = ©IDA S
(™ (220) 288-1552 [ | portonesautomaticos@adsver.com.mx J 'I = K4 e

portonesautomaticos@prodigy.net.mx AesoeNCAL | cowemom.  sousmue  International Door Association ] L

(229) 927-5107, 167-8080, 167-8007, 151-7529 ' www.adsver.com.mx



FAAC

Simply automatic.

A n AUTOMATIC
8 | B. Y DOOR
SPECIALISTS

Puertas & Portones Automaticos, S.A. de C.V.

/'/Va&fff‘a /aa.ffb?r es la Solhcinl...

»400 SBS EXPL 2.
1

Pos. |Code Description Q.ty
001 |4185045 NEW RELEASE ASSY '05 400/422 1
002 |7290445 2005 RELEASE HAND GRIP 1
003 | 7090865 OR 41X1,78 (OR 2162) 1
004 7275275 CAP FOR LOCK 400/422 RELEASE 2005 1
005 |7131005 KEY MOD. 3889.0913 1
006 |7090895 21x2 N70B200V SEAL 1
007 | 490326 KIT 2005 400/422 RELEASE 1
008 1490327 PIN KIT+BY-PASS FOR 2005 400/422 RELEASE 1
009 |7090855 OR 33,05X1,78 (OR 2131) 1
010 | 7090845 OR 4X2,5(0R 2500400) 1
400SBS3_01-06 400 SBS 3 | Bl R R
i ©
: <
% MEMBER = B g
@8 = ©IDA S
(™ (220) 288-1552 [ | portonesautomaticos@adsver.com.mx J = l! = K4 o WP T
portonesautomaticos@prodigy.net.mx AesoeNCAL | cowemom.  sousmue  International Door Association ] L

(229) 927-5107, 167-8080, 167-8007, 151-7529 ' www.adsver.com.mx



FAAC

Simply automatic.

A n AUTOMATIC
8 | B. Y DOOR
SPECIALISTS

Puertas & Portones Automaticos, S.A. de C.V.

/’/Va&fff“a /aa.ffb?r es la Solhcinl...
» 400 SBS EXPL 3.

Pos. |Code Description Qty
001 |[7171485 BACK FLANGE OF MOULDED CABLE 1
002 417010 MOULDED CONNECTOR GROUP 1
003 |4284065 MOULDED CABLE FEMALE KIT 11
004 | 7090290015 O'RING SEAL 15,6X1,78 1
005 |7110015 CAP 1
006 |7109135 CABLE GLAND 1
007 | 701479 | SCREW UNI 8112-3X12 PZ/TT Z 1
008 | 701466 SCREW AUT. TRILOBITE M3X8 8112C15Z 2
009 | 7090080025 GASKET OR 11.91X2.62 ( 115) 1
400SBS4_11-06 HYDRAULIC OPERATOR 24 VDC ‘
: .:' ..- e E
: <
" MEMBER B - r g
@ &5 = &IDA &
(™ (220) 288-1552 [ | portonesautomaticos@adsver.com.mx J = I! = K4 e
portonesautomaticos@prodigy.net.mx AEsoeNGAL  cowemom.  sousmue  International Door Association [] RE Rl P

(229) 927-5107, 167-8080, 167-8007, 151-7529 ' www.adsver.com.mx



